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A farmer has 210 square meters of eall ,__,.u'n’y‘!l O Base 1 210 208 Al
land for sale. dSaludll Lod 19 ) o) ald
He divides the land into 19 equal Caud S &'3 Laa )& Laaye Via oS
sections.

About how many squared meters are

there in each sections?

020 2

Os b

O10 i

O15 d
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B LS ol acHl (B e e ia G o i) Slac] pud
Multiply. vyl
0.48
X 9
043.2 2
0O4.32 b
036.2 <
03.62 d
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Write the number in standard form. Aauldl) ddaall asl) Las)

1 1 1
2x10+4x1+(3xﬁ)+(9x—100)+(5x1,000)

024.395 a
0O42.539 b
042.395 c
024.359 d



serving out of a bag of chips has 3.8 .0l e clds 3.8 Ao Gead (bl

grams of fat. Aa0)d 2.4 (B 39age Lo S

How many grams of fat are there in

2.4 servings?
091.2 a
O 8.82 b
0”9.12 .

08s8.2 a
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B S 3lacilg d i) A1AcH) dowd ilgh padit*Ekk BONUS *kbk
Estimate the quotient. ol il 438
47.6 + 6 47.6 + 6
o8 a
O6 b
O5 c
O7 d



Determine the true statement.

O 114,555,247 > 114,555,427
O 114,555,427 > 114,555,472

O 114,555,427 < 114,555,742

O 114,555,724 = 114,555,427

Aaasall §liel) a3a



1540 L) ii p ?o S OB 0232022 53 Saa? dig jedl - pary et )l - plad jlsall - postall el =

o/

bl Job b & puhl MV pd

Muttiply. g
1.53 x 10° = - 1.%53x 10° =

O 0.153 :
O 0.0153

O 153

— - e
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A nutrition label says that one Oa Baalg dauyd o) Al gilaad) Asls g

serving out of a bag of chips has 3.8 .0l (e aldn 3.8 Ao Gshad (bl
grams of fat. Pdauydi 2.4 8 35a9a L) S
How many grams of fat are there in

2.4 servings?

Q91.2 2

O 8.82 b

F o " o A ™a



D Write the value of the highlighted cJUaal) a3, Aad S|

digit. 7,132, 685
7,132,685
O 20 a
O 20,000 b
O 200 r.

L]
-------------------------------------------------------------------------------------------------------------------------



112:48} N !g 25-7 O‘ 0B e - gl Gall | =

Ln (o 13819 Bpdie o 23] ;S35 (U] gt Judalikkddd BONUS *ikk
A piine Slasi Byguo LB i o sl3>Big

Write the fraction as a decimal. e 2 A o s qas)
17 17
100 100
00.17 a
00.017 b
01.7 <
O1.07 d
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B diid) giall Al Aty i phil) plasiols dawadl] ilgs sl
Estimate. i) dagdl g
637 +8=— 637 +8 =
Q100 a
Q90 b
080 fe

070 d
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Find the unknown number in the Alslaal) (A agleddl & smll saf
equation 8 X m = 72. B8X m=72
Om =8 a
Om=9 b
Om=11 .

Om=10 d
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Find the missing number in the coliaf Aacadll Allasa 3 el 23,0 2 f

division problem below.

39w
72)28,440
— 216

684

— 648,

360

— 360

0

Ol =2 a

a Ol =5 .C

ANl —0 d
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Three new video game systems cost . AED 642 s clalf 5jgal 305 Ails &5
AED 642. If all the game systems asd (ugludia lal) Sigal aas ARG CilS 1))
cost the same, what is the cost of foad jlga JS AR &lg

each game system?

OAED 213 a
OAED 214 b
OAED 212 .

OAED 215 d
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Mohammed is buying 5 train tickets AED 26 Jilia ;Ui S15 5 deaa Shdy
for AED 26 each. 55T Jod
What is the total cost of the tickets? £l ddlaal) 4l La
Use the Distributive Property to Jadl slad aui gl duald paisll
solve.
O(5 x 20) + (5 X 6) = 130 -
O(5 +20) x (5+6) =275 b
O(5 +20) + (5 + 6) = 36 c
O(5x20)%x(5%x6)=3,000 d
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Divide. « il

2) 8214
04,102 -
04,112 b
0417 :
04,107 d
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a Dy (30 (1850 S (B ST Lo plEy D (o (550 SAE Lpd
Multiply. i pud)

2 4

x 1 3
O96 a
0212 b
O310 c

0312 d
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Latifa is buying scrapbooks for her Jajaial cilalad Cilauw Al ol (585
store. Her budget is AED 340. .AED 340 gl a1a
Each scrapbook costs AED 9. .AED 9 clalad Jau Js 43S (15
How many scrapbooks can she buy? oghd lgiSa clbualiad Jauu S
Q37 a
039 b
036 -
038 d
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25-17 °| 0B . W leadl - el aall | =

8 pine Colaclas i pua) blaiily duwluwll G3lisd] Al dsiuwF*rkk BONUS *rrk

i Cillg diog
Find the missing number. coablll aand) aaf
600 x WM =120,000 600 x WM =120,000
O. = 200 .a
O. = b
O. — 2,000 €
O. = 20 d




N

112:48 25 -7 O‘ 0B .l - gl dall | =

da (o 2132819 8 pdie (o 21308 1SN W jgauSd] Juliaiksdds BONUS ***r*
i pine lasi Byguo A wali (o 3y

0

Write the fraction as a decimal. (Sye s A o sl s
17 17
100 100
00.17 a
00.017 b
O1.7 C
01.07 d



1 dals pouudae Lle 5 e FEJi i (e 950 Jas dauudkkdkik BONUS **4++
Ouady (10 95a
Divide. o

18) 416

G > |

» ;

O23R3 <

023 d



